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The table shows the rate in liters/minute at which water leaked out of a contalner.

: X
e Ex —p ——— % ﬁ:::: £'(x)= 4« o 2 g D= 1Sx

13‘ 18. Let f(x)=2¢" and g(x)="5x". At what value of x do the graphs of f and g have parallel tangents (calculator)?

Aright hand Riemannsumis computedusfig the four subintervals indicated by the data In the taute, This 0,344
Riemann sum estimates the total amount of water that has lzaked out of the container. What is the estimate? (D) -0.251 .?:)( 2
A) 12701 .z7l Q1671 0)16.55 1 £)19.62 1 ® 0'165 6 e = ><

w=xd) du=xdk

(2 = 1)'dz = d - d\x
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19. If f(x)=2e" —-;-x’ , which of the following values of x does f have a relative maximum value (calculator)?
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